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Lucky Stones - Logic Grid

Four persons check both the western and eastern horoscope, and wear a different pendant according
to their forecast. Who is wearing an hematite stone?

1. Each person shares at least one initial with one of 7. The Gemini is also Snake or Pig.

their zodiac signs. 8. The Aquarius isn't also Pig.

2. The: Monkey is also tie Leo. 9. The Snake wears amber or hematite.

3. Linda's stones is malachite or turquoise. 10. Sandro doesn't wear amber, and he isn't the

4. Diana or the Aquarius is wearing hematite. Gemini.

5. Moreno isn't born in the year of the Dragon, and 11. The Monkey doesn't wear amber.
isn't born in a Gemini's month.

6. The Leo or the Virgo is wearing malachite.
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Magic Cube - Logic Grid

Every two years the World Cube Association hosts a tournament. Who was the fastest solver in 2013?

1. Nakajima won two editions before the Bangkok

torunament.

2. In Dusseldorf nobody stood under 10 seconds.

3. The winner in Bangkok was slower than Zemdegs, but

5. The four players are: Brendan Vallance, the player
who solved the cube in 8 seconds, the winner of the
2011 edition, and the winner of the Budapest edition.

6. If the best time was set in Las Vegas, then Vallance

faster than the winner in 2007. Ve in SH02.
4. The player with a personal best of 11 seconds was
Vallance or the winner in Bangkok.
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Computer Alert - Logic Grid

Four expert hackers discovered how to block the newest computer threats. Can you tell which virus
was neutralized last?

1. Exactly one of the viruses has the same initial in its Daydream.

name and System's name It works on. 6. Superly didn't neutralize the Follower. Jellyfish didn't

2. Climax didn't neutralize the virus for Ubuntu, nor block Upsidown.

the Upsidown. 7. Prodigy didn't stop a virus for Ubuntu nor Windows.

3. Jellyfish blocked a virus one month after Superly
did.

4. The virus for Fedora, which wasn't the Overclock,
wasn't stopped in November.

8. The Follower was neutralized two months before the
virus was stopped by Jellyfish.

9. The Overclock infected Windows or it was blocked by

Superly.
5. Among the systems Ubuntu and Debian, one's virus
was stopped in September, the other was called
Virus Month Hacker
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A Choice of University - Logic Grid

Four students, from different countries, chose to study in the United Kingdom. Each one chose a
subject and a city (where the university is situated). Find out the nationality of the history student.

1. Exactly one boy and one girl chose a university in a 5. The student from Canada is either a historian or will
city with the same initial of their names. go to Oxford.

2. A boy is from Australia, the other studies 6. The student from USA will go to Edinburgh or will
Architecture. study Medicine.

3. A girl goes to Cambridge, the other studies 7. Lucas is not from USA and will not study History.
Medlcing 8. The student from South Africa is going to Edinburgh
4. Oliver studies Law or is from USA. He is not from or will study Law.

South Africa. 9. The Canadian is not studying Law.
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Knights and Dragons - Logic Grid

Once upon a time, some English counties were threatened by dragons. In different times, four
knights found the courage to fight four dragons of different colors. In which place did Sir Gervais win

his battle?

1. Sir Gervais fought a dragon in 530 or in 540. He
didn't fight the white one.

2. The black dragon was challenged in 510 or in Kent.

3. The white dragon was fought 10 years after the
Norfolk's one.

4. Only the knight who fought in Yorkshire has the
same initial in his name and in the color of his foe.

5. Sir Rouland's foe was in Norfolk or in Cornwales.

6. The red dragon was challenged in Norfolk or by Sir
Warren.

7. The dragon that terrorized Kent was black or white.
Sir Bardulph didn't live there.

8. Sir Warren fought the dragon 10 years after Sir
Bardulph.

9. The green dragon was challenged in 530 or by
Rouland, however it wasn't fought in 510.
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